LUC overall circuit

G
- 1|
|l
12pF
& !
+5 ™
+5
R
[22K Res2 <~ J__
10K = P
.
MK Left | 2 L 2
Res2 P HCT244N +5
. OEbar = LED1
Mic2 100 ¥
LEDS 1AL ; vclg 20EDar A
—-2 1 E V1 2
= Res2 LA i 13 22
E128P6 = ¥y 2Y3 V2 LED?
100 T D TS /
SV A ) 2 "l 1 w2 18 B ’ /2
elephofle PUB g gg [~ pUs _‘Re% TAY ; 1‘3‘ 2A2
= PTO |, o [ PU4 o0 ¥ vl | o [iva LEI/)(S
PTL PU3 LEDS GND 2A1 o’
| +5 SR B T 2 1 ou 2
pr3 1 & 19 Ut 1 —
7 18 Res2 =
c PT4 PUO a ¥y LED4
R 8 17 — 00
1l PT5 | o 16 [ PET 1 LED5
|f a3 PT6 | 10 1s [ PT7 = bee +33
12pF ymbal PE0 | 1 1 | PEL g |
5 R I PR . & 1: RAO/AND
— - RAT/AN1
+5 I | |j 24 Pinout - 11 RA2IAN2 RCUAN4 12
= RA3MCLR RCLANS
R
N 4 1K (= 5 | RA4ANIOSCZ  RC2ANG [—=2
E128 P5 C6 20MHz 2 7
9K Res2 < — | RAS/0SCL RC3/AN7
| GND GND | = - 6
10K gAR? L -I| ron R I||. = _| B rouc2ouT |2
MK Right | = 2 19 — RB4/SDI RC5/CCPL
| PS3 PP4 18pF 12 8
I o B e ST RBSRX ROBISS (—
—4 17— —— RBGISCK RC7/SDO
Mic2 & PPO 15 15 |—P™ 0 1 rermx
47 PADD | o 1o [ PADs
papL | o [T pADs 0 |
= PaD2 | o o [ pADS
PaDs | o [T pAD? = PIC16F690
| ND 10 11 L“p
20 Pinout




